
 

 

 

Grade Topic SheetKey Name Date

2 Integer-SUB 2-I-SUB-WP-1493

1) Rina has 966 sharpners. Ria has 588 sharpners. How many more

sharpners Rina has?

2) Palak has 964 oranges. Kiara has 956 less oranges than Palak. How

many oranges does Kiara have?

3) Bhawna has 816 marbles. Suraj has 689 less marbles than Bhawna.

How many more marbles Bhawna has?

4) Mustafa has 801 plums. Katy has 565 less plums than Mustafa. How

many more plums Mustafa has?

5) Isabel has 557 tomatos. Shyam has 472 less tomatos than Isabel.

How many tomatos does Shyam have?

6) Sohan has 660 rosess. Hari has 417 less rosess than Sohan. How

many more rosess Sohan has?

7) Ken has 658 potatoess. Arun has 554 potatoess. How many more

potatoess Ken has?

8) Eugen has 708 buss. Shishir has 430 less buss than Eugen. How

many more buss Eugen has?

9) Gita has 973 cars. Vidya has 763 less cars than Gita. How many cars

does Vidya have?

10) Ana has 946 pencils. Mita has 389 pencils. How many more pencils

Ana has?


